WS FOR TSD-2220 - Family: WALL-SMART
Model:  s5||p BOARD
DWG NO. 10-04-726-SPC
REVISION A
Model No.: 10-01-726 PRODUCT SPEC. o 2romn

Make Your Wall Smart

“WS FOR TSD-2220 - SOLID BOARD” - Product description:

The “WS FOR TSD-2220 - SOLID BOARD” is an adapter for in-wall

flush installation of TSD-2220 touch screen in solid boards.

The “WS FOR TSD-2220 - SOLID BOARD” securely mounts the

touch

screen while allowing easy insertion, removal and operation.

Key features and benefits:

e Can beinstalled in walls of 5mm [0.19] up to 28mm [1.1]

thickness.

e Allows easy insertion and removal of the touch screen.

e  Wall mount contains depth calibration screws.

e Designed for the use with TSD-2220 (by CRESTRON) (touch

screen is not included).
e  Adapter kit contains:
1. (X1) Wall adapter;
(X1) Screen adapter
(X4) M4x10 screws
(X4) M4 flat washer
(X20) ST3x16 screws

vk wnN

Key properties:

o Dimensions: (W/H/D): 585mm (23")/ 385mm (15.16")
/ 88mm (3.46")

o Weight: 4.2Kg (9.2lbs).

) Material: Zinc plated carbon steel

[0.19~1.1]
5~28
WALL THICKNESS

[20.433]
519

WALL OPENING

A 1

WALL OPENING

WALL OPENING

[15.16]
385

[3.46]
88

(23]

585 |

o
of

of
o

00
00 2o o

o
o|

o
o

=N
LTy )
pd Y
- R

pod Y

L}

\}

\)
-
=
=
-

L\

-
==
W _wew w
L\

W
W

- W R
pd et 1

uw

\L}

\)

=W

w

w_wiw_w
SUTHTR
- TR R
Lt

w

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

by Wﬂ/ﬁSmart Ltd.

INFORMATION CONTAINED HEREIN IS PROPRIETARY AND MAY NOT BE USED,
REPRODUCED OR COPIED WITHOUT WRITTEN CONSENT OF WALL-SMART ©

www.wall-smart.com Phone: (201) 205-2056 / info@wall-smart.com

SHEET 1/3




Model: WS FOR TSD-2220 - Family: ~ WALL-SMART
SOLID BOARD WG NG, 10.04726.5PC
REVISION A
Model No.: 10-01-726 PRODUCT SPEC. DATE 27/Feb./2017

-
_-
-
-
t= T
- =3 e ll
=3 &
—2 |r' “.,l"g a s
° l||gg=1|.|| L0
5||"’|L ] S
o =20 - L
=2 2 ||| =
ih's s -
=R
o V) 22
=4 o
-

ROUTE AN OPENING IN THE WALL
ACCORDING THE DIMENSIONS IN PAGE 3
OF THIS SPEC. OR USING A DXF FILE
PROVIDED UPON REQUEST.

ATTACH THE WALL MOUNT USING SCREWS
OR STRUCTURAL ADHESIVE

INSTALL SCREEN USING 4 M4X10 SCREWS AND 4 M4 WASHERS (INCLUDED)
(DO NOT TIGHTEN THE SCREWS)

IF REQUIRED, CALIBRATE VERTICAL POSITION OF THE
SCREEN BY ADJUSTING POSITION OF THESE 4 SCREWS.

IF REQUIRED, CALIBRATE SCREEN DEPTH BY ROTATING THESE 4 SCREWS ON BOTH
SIDES OF THE SCREEN.

wZn
wSn
women W

nSnZnZ
nSnnZ

w
nw

INSERT THE SCREEN

o

[/

=n
/]
=

[/}

pond [ [
n=
SUSHE
=

=
()

w_o«n_o

o,

1/

L/}

)

TO INSERT THE SCREEN
INSERT THE BOTTOM EDGE OF THE SCREEN IN TO THE MOUNT AND THEN
PUSH IN THE TOP.

TO REMOVE THE SCREEN
PUSH IN THE BOTTOM EDGE OF THE SCREEN AND THEN PULL UP AND OUT
THE TOP OF THE SCREEN.

EuZEnZn

o

SuSn
SuwZw
wZn

o
w_osmw 0w

w

ns
nSNSNS
nZnZnZ

/]

/]

w

/]

by Wﬂ/ﬁSmart Ltd.

www.wall-smart.com

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

INFORMATION CONTAINED HEREIN IS PROPRIETARY AND MAY NOT BE USED,
REPRODUCED OR COPIED WITHOUT WRITTEN CONSENT OF WALL-SMART ©

SHEET 2/3

Phone: (201) 205-2056 / info@wall-smart.com




MARK SCREW POSITION

http://www.wall-smart.com/uploads/2/4/1/6/24165207/10-04-726-opening_routing_dim.dxf

! + + + + +
- _ J0.000] {0197]
5
+ } i[4.134]
105
N
— 58
s 2Q o —
Ng 2 ROUTE WALL OPANING
=3 g .
i < o
o
+ i[8.268]
210
+ L Y12205]
310
+ + + +
+0.012
20.433 -0.004 %,
+0.3 &%
519 -0.1
[22.402]
569



